B | AR | BB ELEHS BWAHE | XBEWL | BEAR | FILGA | B | WS | ARG | SRSt
007 A FINEH 105110110070525 045100 HE T 4 H# 85.5 89 87.36
007 P& Fi# 105110110070686 045100 HE B 4= H 84 82 83.06
007 R | AR 105110110070529 045100 HE EEEE | EeHH 88 90 88.86
007 NERE | EM 105110110070548 050100 | FHEEF Y| HEAEH 4= H il 82 91 86.68
007 R | XBEZE 105110110070552 050100 |FE{ES CZ| HEE%E 4 H ] 79.5 89 84.24
007 A e 105110110070553 050100 | FEESF Y| HEAH 4 H ] 81.5 90 85.9
007 P& R 105110110070567 050100 |FE{IES & HEHE%E 4= H 79.5 90 84.63
007 ERE | ETH® 105110110070569 050100 |FEIES & HEEHE 4 H | 85.5 91 88.46
007 SCEERE | MR 105110110070629 050100 | FHEESF Y| HEAEH 4= H il 76 91 83.36
007 R XI5 105110110070589 050100 |FE{ES CZ| HEE%E 4= H 85 90 87.33
007 SRR | R 105110110070594 050100 | FEES Y| HEAH 4 H ] 90 86 87.83
007 SCEERE | SRR 105110110070685 050100 |FE{ES CZ| HEHE%E 4= H 91 89 90.09
007 NERE | XA 105110110070531 050100 |/ EIES | HiEH%E 4 H il 79 83 80.8
007 NERE | RO 105110110070667 050100 | FHHEESF Y| HEAEH 4= H il 76.5 88 82.39
007 SR | E 105110110070636 050100 |FE{ES CZ| HEE%E 4= H 78.5 83 80.58
007 SCEERE | R 105110110070577 050100 | FHEES Y| HEAEH 4 H ] 82.5 90 86.04
007 R | MRS 105110110070637 050100 |FE{ES CZ| HEHE%E 4= H 80 90 84.75
007 ERE | EERE 105110110070639 050100 |/ EIES | HiEH%E 4 H il 88.5 85 86.78
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B | AR | BB ELEHS BWAHE | XBEWL | BEAR | FILGA | B | WS | ARG | SRSt
007 A R F 105110230070006 050100 | H[HEF 0| MilhER: 4 H ] 89 89.43
007 P& = 105110110070616 050100 |AFE{IES CZ| HEHE%E 4= H 80 89 84.47
007 NERE | TREEAR 105110110070620 050100 |/ EIES | HiEH%E 4 H il 81 89 85.09
007 NERE | XA 105110110070625 050100 | FHEEF Y| HEAEH 4= H il 78 87 82.41
007 R | GEE 105110110070653 050100 |FE{ES CZ| HEE%E 4= H 79.5 87 83.07
007 A THf 105110110070676 050100 | FEESF Y| HEAH 4 H ] 85.5 91 88.42
007 SR | WEH 105110110070538 050100 |FE{IES & HEHE%E 4= H et 74.5 82 78.39
007 NERE | BOCik 105110110070541 050100 |FEIES & HEEHE 4 H il 82.5 88 85.43
007 prac=A JE 105110110070544 050100 | FHEESF Y| HEAEH 4= H il DR 70.5 82 76.24
007 R | AT 105110110070601 050100 |FE{ES CZ| HEE%E 4= H 89.5 89 89.15
007 R | EEY 105110110070663 050100 | FEES Y| HEAH 4 H ] 83.5 88 85.6
007 MR | RS 105110110070680 050100 |HEHiEF Y| HiEiH% % H il PONRE 79.5 82 80.55
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